AR R N =
102 £ 5 B A AT N E A A

#B RS RARSIE

— R EER—
E I 1100 54
HEFK ERBLAELELE TERE ) LHS

#LE XA A




B 3 A A R K2 102 ﬂ*éﬁﬁfrf’rm&/\ﬂ%‘ﬁ XA
[2) uﬂﬂ"&j‘x’ﬁ ibﬁﬁ

#8 R RREHIE

- R

— ~ thawrigor (3% )
= ~ Specific activity (39%)

S
— > A= F i (TMAO) £ &AM A st BT ? A& &

R B R AT FGRIERHKERZEEAM? (9
%)

—~ABERE > A Km # Vmax 849 14 > Km &/~ AF

REGEE B (5%) ? oMK% Km £ Vmax ($ 5
4 Lineweaver-Burk 7 #2 R, 3t & & 4 18] #1415 B R B FE (R
s~ The Lineweaver-Burke plot has the form y = mx + b, and
is the formula for a straight line) ? (109 )

= ~ POV (peroxide value) & & TBARS (thiobarbituric acid

reactive substances) {8 4 ihfs BALF A B 454% > WA
BEEE R P REH#ILZ 2 RAME 8%)

~RAEGRFXI R OB RERELEIRZIRAET B E
ﬁalz%%?%&mﬁ’%ﬁ ?(12%)




EEAAMAATRE  HRIRTHEMAEET BB

g

HEBRITFRREEFESETLEARDLRAFHERR
WFk EFHEREEM? (20 %)

N CRRATH RS TEMERIE > BRE - A
AzR (30 49)
1LARSE 2°EF%B 3WERSE 4EATHNE
5357 6.y-4t4RER 4



